BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGINEERING, INC. T. JOSEPH FEBRUARY 23, 2024 5555-3002 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING MISCELLANEOUS ITEMS
1) PRECISE SERVICES,INC.	\$2,709,261.95	\$2,749,207.95
2) ICON GC, LLC	\$2,729,770.28	\$2,792,000.00
3) CE BARKER, LTD.	\$2,747,129.50	\$2,774,682.50
4) PRINCIPAL SERVICES, LTD	\$2,816,988.90	\$2,866,672.85
5) DACO PAVING, INC.	\$2,870,393.00	\$2,929,000.00

CALENDAR DAYS 90/100



I, Justin Graham, PE, hereby certify these bid tabulations to be true and correct.

Page 1 of 9 FRN F-1386
LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGINEERING, INC. T. JOSEPH

		1) PRECISE SERVICES, INC.			2) ICON (GC, LLC	3) CE BARKER, LTD.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
DRAINAGE FACILITIES ITEMS									
1 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	2803	\$105.00	\$294,315.00	\$98.00	\$274,694.00	\$117.00	\$327,951.00	
2 36" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	589	\$190.00	\$111,910.00	\$155.00	\$91,295.00	\$185.00	\$108,965.00	
3 TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3484	\$0.10	\$348.40	\$0.01	\$34.84	\$1.00	\$3,484.00	
4 STAGE I - STANDARD 5' PRECAST INLET ("B-B"), (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE	EA	8	\$2,300.00	\$18,400.00	\$2,200.00	\$17,600.00	\$2,000.00	\$16,000.00	
5 STAGE II- STANDARD 5' PRECAST INLET ("B-B"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	8	\$3,150.00	\$25,200.00	\$1,800.00	\$14,400.00	\$1,200.00	\$9,600.00	
6 STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$2,650.00	\$15,900.00	\$2,800.00	\$16,800.00	\$3,400.00	\$20,400.00	
7 STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES TEMPORARY SAND-FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL. COMPLETE IN PLACE	EA	6	\$3,300.00	\$19,800.00	\$1,600.00	\$9,600.00	\$1,700.00	\$10,200.00	
8 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	14	\$5,500.00	\$77,000.00	\$3,500.00	\$49,000.00	\$3,500.00	\$49,000.00	
9 10' X 10' RCB STORM SEWER BOX CULVERT ASTM C-1433, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, NON-SHRINK GROUT ON ALL JOINTS, COMPLETE IN PLACE	LF	92	\$1,675.00	\$154,100.00	\$2,000.00	\$184,000.00	\$1,800.00	\$165,600.00	
10 TYPE C MANHOLE WITH TYPE 'E' INLET TOP, COMPLETE IN PLACE	EA	1	\$8,250.00	\$8,250.00	\$3,500.00	\$3,500.00	\$4,350.00	\$4,350.00	
11 INLET PROTECTION BARRIER FOR TYPE 'E' INLET, COMPLETE IN PLACE	EA	1	\$95.00	\$95.00	\$1.00	\$1.00	\$100.00	\$100.00	
12 EXCAVATION OF DETENTION POND A1, INCLUDES GRASS LINED WEIR & PILOT CHANNEL, INCLUDES HAULING TO SPOIL/FILL SITE WITHIN PROJECT LIMITS, SITE PREP, PLACEMENT IN MAX 8-INCH LIFTS, MANIPULATION, STRIPPING OF EXCAVATION AND FILL AREAS PREVIOUSLY CLEARED, PROCTORING AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, AS INDICATED ON PLANS, COMPLETE IN PLACE	CY	2480	\$4.35	\$10,788.00	\$6.00	\$14,880.00	\$3.50	\$8,680.00	
13 CONTROL OF SURFACE WATER FOR EXCAVATION AND SPOIL SITE A1, INCLUDES PUMPING DOWN OF PROPOSED POND, DURING CONSTRUCTION AND SURFACE SWALES AS NEEDED, COMPLETE IN PLACE	МО	1	\$12,000.00	\$12,000.00	\$100.00	\$100.00	\$12,000.00	\$12,000.00	
14 DEMUCK EXISTING WET AREAS (ASSUME 3' DEPTH, CONTRACTOR TO SURVEY AND FIELD VERIFY FINAL QUANTITY), ROOTS TO BE REMOVED FROM SITE AND SOIL CAN BE SPREAD ONSITE TO DRY, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	2000	\$4.35	\$8,700.00	\$4.00	\$8,000.00	\$8.00	\$16,000.00	
15 EXCAVATION OF DETENTION POND C5, INCLUDES GRASS LINED WEIR & PILOT CHANNEL, INCLUDES HAULING TO SPOIL/FILL SITE WITHIN PROJECT LIMITS, SITE PREP, PLACEMENT IN MAX 8-INCH LIFTS, MANIPULATION, STRIPPING OF EXCAVATION AND FILL AREAS PREVIOUSLY CLEARED, PROCTORING AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, AS INDICATED ON PLANS, COMPLETE IN PLACE	CY	4231	\$4.35	\$18,404.85	\$6.00	\$25,386.00	\$3.50	\$14,808.50	

FEBRUARY 23, 2024

5555-3002 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGINEERING, INC.

2) ICON GC. LLC

3) CE BARKER, LTD.

T. JOSEPH FEBRUARY 23, 2024 5555-3002 (9.2)

1) PRECISE SERVICES, INC.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
CHANNEL, INCLUDES HAULIN PREP, PLACEMENT IN MAX 8- EXCAVATION AND FILL AREA	POND C1, INCLUDES GRASS LINED WEIR & PILOT IG TO SPOIL/FILL SITE WITHIN PROJECT LIMITS, SITE INCH LIFTS, MANIPULATION, STRIPPING OF S PREVIOUSLY CLEARED, PROCTORING AND ARD PROCTOR DENSITY, AS INDICATED ON PLANS,	CY	51125	\$4.35	\$222,393.75	\$6.00	\$306,750.00	\$3.50	\$178,937.50
17 4" CONCRETE SLOPE PAVING	G, (INCLUDES 3' TOW WALL), COMPLETE IN PLACE	SY	38	\$195.00	\$7,410.00	\$139.00	\$5,282.00	\$85.00	\$3,230.00
18 18" THICK CONCRETE RIP RA PLACE	P, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN	SY	197	\$125.00	\$24,625.00	\$133.00	\$26,201.00	\$73.00	\$14,381.00
19 BACKSLOPE SWALE, INCLUD AND HYDROMULCH SEEDING	ES EXCAVATION, HAULING TO FILL SITE, GRADING , COMPLETE IN PLACE	LF	990	\$7.25	\$7,177.50	\$4.70	\$4,653.00	\$9.00	\$8,910.00
	ROPOSED ROADWAY, INCLUDES EXCAVATION, ING AND HYDROMULCH SEEDING, COMPLETE IN	LF	1936	\$9.75	\$18,876.00	\$6.39	\$12,371.04	\$7.00	\$13,552.00
21 DEWATERING FOR STORM S AS DIRECTED BY THE ENGIN	EWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY EER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00
CONSTRUCTION, (TO BE USE	IFIED "A-A" BEDDING FOR WET SAND ID ONLY AT THE WRITTEN DIRECTION OF THE DEPTHS, COMPLETE IN PLACE	LF	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00
23 5' X 7' RESTRICTOR PLATE FO PLACE	OR 36" STM. INFLOW STRUCTURE C1, COMPLETE IN	EA	1	\$3,750.00	\$3,750.00	\$2,400.00	\$2,400.00	\$2,800.00	\$2,800.00
24 4' X 6' RESTRICTOR PLATE F PLACE	OR 24" STM. INFLOW STRUCTURE A1, COMPLETE IN	EA	1	\$3,250.00	\$3,250.00	\$450.00	\$450.00	\$2,200.00	\$2,200.00
25 HYDRO MULCH SEEDING OF ENGINEER), COMPLETE IN PL	R.O.W, (TO BE USED ONLY AS DIRECTED BY THE ACE	AC	3	\$2,300.00	\$6,900.00	\$2,400.00	\$7,200.00	\$1,900.00	\$5,700.00
26 DRY APPLICATION SEEDING BY THE ENGINEER), COMPLE	FOR POND AREAS, (TO BE USED ONLY AS DIRECTED TE IN PLACE	AC	6	\$1,300.00	\$7,800.00	\$3,380.00	\$20,280.00	\$2,150.00	\$12,900.00
DRAINAGE FACILITIES ITEMS SUBT	OTAL:				\$1,093,393.50		\$1,110,877.88		\$1,025,749.00

Page 3 of 9 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGINEERING, INC.

T. JOSEPH FEBRUARY 23, 2024 5555-3002 (9.2)

20.002.00		1) PRECISE SERVICES, INC.		RVICES, INC.	2) ICON G	C, LLC	3) CE BARKER, LTD.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
PAVEMENT IMPROVEMENT ITEMS									
1 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	19588	\$51.50	\$1,008,782.00	\$52.00	\$1,018,576.00	\$58.00	\$1,136,104.00	
2 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	15788	\$4.15	\$65,520.20	\$4.00	\$63,152.00	\$3.50	\$55,258.00	
3 4" X 12" REINFORCED MOUNTABLE CURB, COMPLETE IN PLACE	LF	93	\$4.15	\$385.95	\$4.00	\$372.00	\$3.50	\$325.50	
4 8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	21417	\$4.70	\$100,659.90	\$4.20	\$89,951.40	\$4.00	\$85,668.00	
5 HYDRATED LIME FOR 8" SUBGRADE (CONTAINING 10% LIME CONTENT), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY THE GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	707	\$310.00	\$219,170.00	\$350.00	\$247,450.00	\$350.00	\$247,450.00	
6 COMMON ROADWAY EXCAVATION TO BE HAULED TO A DESIGNATED FILL LOCATION WITHIN 0.5 MILES OF THE PROJECT SITE UTILIZING OFF-ROAD TRUCKS AND PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, INCLUDES SITE PREP, ANY TEMPORARY TRAFFIC CONTROL, FLAGMEN, ETC., REQUIRED TO CROSS OR TRAVERSE EXISTING ROADWAYS, COMPLETE IN PLACE	CY	6744	\$4.35	\$29,336.40	\$4.75	\$32,034.00	\$4.00	\$26,976.00	
7 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$38,000.00	\$38,000,00	\$25,000.00	\$25,000.00	\$26,000.00	\$26,000.00	
8 TEMPORARY TRAFFIC CONTROL AS REQUIRED FOR CONSTRUCTION, INCLUDES BUTTONS, SIGNS, STRIPING, MARKERS, BARRELS, FLAGMEN AND ANY OTHER TRAFFIC CONTROL MEASURES REQUIRED, COMPLETE IN PLACE	LS	1	\$5,800.00	\$5,800.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	
9 TYPE III BARRICADE, COMPLETE IN PLACE	EA	4	\$1,300.00	\$5,200.00	\$100.00	\$400.00	\$1,000.00	\$4,000.00	
10 REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	55	\$15.00	\$825.00	\$1.00	\$55.00	\$65.00	\$3,575.00	
11 2' SAWCUT, EXPOSE, CLEAN, AND TIE EXISITING REBAR INTO PROPOSED 7" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	50	\$35.00	\$1,750.00	\$1.00	\$50.00	\$30.00	\$1,500.00	
12 REMOVE AND OFFSITE DISPOSAL OF 7" CONCRETE PAVEMENT WITH CURB, COMPLETE IN PLACE	SY	1254	\$16.50	\$20,691.00	\$8.00	\$10,032.00	\$12.00	\$15,048.00	
13 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	6	\$1,650.00	\$9,900.00	\$1,250.00	\$7,500.00	\$1,350.00	\$8,100.00	
14 2" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	528	\$3.50	\$1,848.00	\$2.50	\$1,320.00	\$4.50	\$2,376.00	
PAVEMENT IMPROVEMENT ITEMS SUBTOTAL:				\$1,507,868.45		\$1,497,392.40		\$1,613,380.50	
CLEARING AND GRUBBING ITEMS									
1 CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING OF CLEARING DEBRIS AND HAULING OF DEBRIS OFFSITE, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	9	\$12,000.00	\$108,000.00	\$13,500.00	\$121,500.00	\$12,000.00	\$108,000.00	
CLEARING AND GRUBBING ITEMS SUBTOTAL:				\$108,000.00		\$121,500.00		\$108,000.00	
MISCELLANEOUS ITEMS									
1 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,850.00	\$1,850.00	\$1,200.00	\$1,200.00	\$1,250.00	\$1,250.00	
2 INSTALLATION AND MAINTENANCE OF FILTER FABRIC FENCE (SILT BARRIER FENCING) INCLUDING REMOVAL UPON COMPLETION, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF :	11203	\$2.00	\$22,406.00	\$3.00	\$33,609.00	\$1.00	\$11,203.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGIBERING, INC. T. JOSEPH

2) ICON GC. LLC

3) CE BARKER, LTD.

				I) PRECISE SER	RVICES, INC.	2) ICON GC	, LLC	3) CE BARK	ER, LID.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	R FABRIC FENCE (SILT BARRIER FENCING), SWMHCA . 4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), E	LF	60	\$2.50	\$150.00	\$2.00	\$120.00	\$20.00	\$1,200.00
	NTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION CIFICATION NO. 4711, (TO BE USED ONLY AS DIRECTED BY DMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,300.00	\$2,300.00
5 INSTALL, MAINTAIN COMPLETE IN PLAC	, AND REMOVE CONCRETE TRUCK WASHOUT AREA, E	EA	1	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$250.00	\$250.00
	AKING AS NEEDED TO COMPLETE PROJECT PER PLANS, VIDES LIMITED CONTROL	LS	1	\$12,500.00	\$12,500.00	\$25,696.72	\$25,696.72	\$11,000.00	\$11,000.00
7 INLET PROTECTION PLACE	I BARRIERS FOR EXISTING TYPE "B-B" INLET, COMPLETE IN	EA	1	\$135.00	\$135.00	\$1.00	\$1.00	\$50.00	\$50.00
8 INLET PROTECTION PLACE	I BARRIERS FOR EXISTING TYPE "A" INLET, COMPLETE IN	EA	3	\$135.00	\$405.00	\$1.00	\$3.00	\$100.00	\$300.00
MISCELLANEOUS ITEMS S	SUBTOTAL:				\$39,946.00		\$62,229.72		\$27,553.00
BIDDING SUMMARY									
SUBTOTAL DRAINAGE FA	CILITIES ITEMS				\$1,093,393.50		\$1,110,877.88		\$1,025,749.00
SUBTOTAL PAVEMENT IM	PROVEMENT ITEMS				\$1,507,868.45		\$1,497,392.40		\$1,613,380.50
SUBTOTAL CLEARING AN	D GRUBBING ITEMS			5 8 8	\$108,000.00		\$121,500.00		\$108,000.00
TOTAL AMOUNT BASE BIL	0				\$2,709,261.95		\$2,729,770.28		\$2,747,129.50
MISCELLANEOUS ITEMS									
TOTAL AMOUNT BASE BID					\$2,709,261.95		\$2,729,770.28		\$2,747,129.50
SUBTOTAL MISCELLANEC	DUS ITEMS		AL		\$39,946.00		\$62,229.72		\$27,553.00
TOTAL AMOUNT INCLUDIN	NG MISCELLANEOUS ITEMS				\$2,749,207.95		\$2,792,000.00		\$2,774,682.50

FEBRUARY 23, 2024

1) PRECISE SERVICES, INC.

5555-3002 (9.2)

Page 5 of 9 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGINEERING, INC. T. JOSEPH

4) PRINCIPAL SERVICES, LTD

FEBRUARY 23, 2024

5555-3002 (9.2)

5) DACO PAVING, INC.

ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DRA	NAGE FACILITIES ITEMS						
1	24° RCP STORM SEWER PIPE, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	2803	\$97.00	\$271,891.00	\$110.00	\$308,330.00
2	36° RCP STORM SEWER PIPE, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	589	\$174.00	\$102,486.00	\$180.00	\$106,020.00
3	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3484	\$0.10	\$348.40	\$1.40	\$4,877.60
4	STAGE I - STANDARD 5' PRECAST INLET ("B-B"), (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE	EA	8	\$1,000.00	\$8,000.00	\$1,900.00	\$15,200.00
5	STAGE II- STANDARD 5' PRECAST INLET ("B-B"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	8	\$2,200.00	\$17,600.00	\$3,190.00	\$25,520.00
6	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$1,000.00	\$6,000.00	\$2,300.00	\$13,800.00
7	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES TEMPORARY SAND-FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL. COMPLETE IN PLACE	EA	6	\$2,200.00	\$13,200.00	\$3,650.00	\$21,900.00
8	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	14	\$3,400.00	\$47,600.00	\$3,175.00	\$44,450.00
9	10' X 10' RCB STORM SEWER BOX CULVERT ASTM C-1433, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, NON-SHRINK GROUT ON ALL JOINTS, COMPLETE IN PLACE	LF	92	\$1,696.00	\$156,032.00	\$1,950.00	\$179,400.00
10	TYPE C MANHOLE WITH TYPE 'E' INLET TOP, COMPLETE IN PLACE	EA	1	\$3,099.00	\$3,099.00	\$5,325.00	\$5,325.00
11	INLET PROTECTION BARRIER FOR TYPE 'E' INLET, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$68.00	\$68.00
12	EXCAVATION OF DETENTION POND A1, INCLUDES GRASS LINED WEIR & PILOT CHANNEL, INCLUDES HAULING TO SPOIL/FILL SITE WITHIN PROJECT LIMITS, SITE PREP, PLACEMENT IN MAX 8-INCH LIFTS, MANIPULATION, STRIPPING OF EXCAVATION AND FILL AREAS PREVIOUSLY CLEARED, PROCTORING AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, AS INDICATED ON PLANS, COMPLETE IN PLACE	CY	2480	\$5.60	\$13,888.00	\$6.40	\$15,872.00
13	CONTROL OF SURFACE WATER FOR EXCAVATION AND SPOIL SITE A1, INCLUDES PUMPING DOWN OF PROPOSED POND, DURING CONSTRUCTION AND SURFACE SWALES AS NEEDED, COMPLETE IN PLACE	МО	1	\$6,050.00	\$6,050.00	\$6,606.40	\$6,606.40
14	DEMUCK EXISTING WET AREAS (ASSUME 3' DEPTH, CONTRACTOR TO SURVEY AND FIELD VERIFY FINAL QUANTITY), ROOTS TO BE REMOVED FROM SITE AND SOIL CAN BE SPREAD ONSITE TO DRY, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	2000	\$5.00	\$10,000.00	\$4.50	\$9,000.00
15	EXCAVATION OF DETENTION POND C5, INCLUDES GRASS LINED WEIR & PILOT CHANNEL, INCLUDES HAULING TO SPOIL/FILL SITE WITHIN PROJECT LIMITS, SITE PREP, PLACEMENT IN MAX 8-INCH LIFTS, MANIPULATION, STRIPPING OF EXCAVATION AND FILL AREAS PREVIOUSLY CLEARED, PROCTORING AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, AS INDICATED ON PLANS, COMPLETE IN PLACE	CY	4231	\$5.60	\$23,693.60	\$5.85	\$24,751.35

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

DRAINAGE FACILITIES ITEMS SUBTOTAL:

CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGINEERING, INC. T. JOSEPH

\$1.028.993.00

FEBRUARY 23, 2024

5555-3002 (9.2)

4) PRINCIPAL SERVICES, LTD 5) DACO PAVING, INC. ITEM DESCRIPTION UNIT OTY **UNIT COST** TOTAL COST UNIT COST TOTAL COST 16 EXCAVATION OF DETENTION POND C1, INCLUDES GRASS LINED WEIR & PILOT 51125 \$286,300.00 \$4.85 \$247,956.25 \$5.60 CHANNEL, INCLUDES HAULING TO SPOIL/FILL SITE WITHIN PROJECT LIMITS. SITE PREP, PLACEMENT IN MAX 8-INCH LIFTS, MANIPULATION, STRIPPING OF EXCAVATION AND FILL AREAS PREVIOUSLY CLEARED, PROCTORING AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, AS INDICATED ON PLANS, COMPLETE IN PLACE 17 4" CONCRETE SLOPE PAVING, (INCLUDES 3' TOW WALL), COMPLETE IN PLACE SY 38 \$113.00 \$4,294.00 \$169.00 \$6,422.00 18 18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN 197 \$117.00 \$23,049.00 \$139.00 \$27,383.00 19 BACKSLOPE SWALE, INCLUDES EXCAVATION, HAULING TO FILL SITE, GRADING \$2.970.00 \$4.00 \$3,960.00 990 \$3.00 AND HYDROMULCH SEEDING, COMPLETE IN PLACE 20 DRAINAGE SWALE ALONG PROPOSED ROADWAY, INCLUDES EXCAVATION. LF 1936 \$3.00 \$5.808.00 \$4.00 \$7,744,00 HAULING TO FILL SITE, GRADING AND HYDROMULCH SEEDING, COMPLETE IN PLACE 21 DEWATERING FOR STORM SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY LF 500 \$20.00 \$10,000.00 \$25.00 \$12,500.00 AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 22 ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND LF 500 \$12.00 \$6,000.00 \$15.00 \$7,500.00 CONSTRUCTION. (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE 23 5' X 7' RESTRICTOR PLATE FOR 36" STM. INFLOW STRUCTURE C1, COMPLETE IN \$2,592.00 \$2 592 00 \$6,750.00 \$6,750.00 24 4' X 6' RESTRICTOR PLATE FOR 24" STM. INFLOW STRUCTURE A1, COMPLETE IN \$2,042.00 \$2,042.00 \$6,750.00 \$6,750.00 25 HYDRO MULCH SEEDING OF R.O.W, (TO BE USED ONLY AS DIRECTED BY THE \$1,000.00 \$3,000.00 \$2,200.00 \$6,600.00 ENGINEER), COMPLETE IN PLACE 26 DRY APPLICATION SEEDING FOR POND AREAS. (TO BE USED ONLY AS DIRECTED \$500.00 \$3,000.00 \$3,200.00 \$19.200.00 BY THE ENGINEER), COMPLETE IN PLACE

Page 7 of 9 FRN F-1386 LJA Engineering, Inc.

\$1.133.885.60

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGINEERING, INC.

T. JOSEPH FEBRUARY 23, 2024 5555-3002 (9.2)

				0000 0002 (0.2)			
				4) PRINCIPAL S	SERVICES, LTD	5) DACO PA	VING, INC.
ITEM	DESCRIPTION	UNI	T QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVE	EMENT IMPROVEMENT ITEMS						
1	7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	19588	\$59.30	\$1,161,568.40	\$57.00	\$1,116,516.00
2	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	15788	\$3.50	\$55,258.00	\$4.30	\$67,888.40
3	4" X 12" REINFORCED MOUNTABLE CURB, COMPLETE IN PLACE	LF	93	\$3.50	\$325.50	\$6.00	\$558.00
4	8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	21417	\$5.00	\$107,085.00	\$5.00	\$107,085.00
5	HYDRATED LIME FOR 8" SUBGRADE (CONTAINING 10% LIME CONTENT), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY THE GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	707	\$330.00	\$233,310.00	\$345.00	\$243,915.00
6	COMMON ROADWAY EXCAVATION TO BE HAULED TO A DESIGNATED FILL LOCATION WITHIN 0.5 MILES OF THE PROJECT SITE UTILIZING OFF-ROAD TRUCKS AND PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, INCLUDES SITE PREP, ANY TEMPORARY TRAFFIC CONTROL, FLAGMEN, ETC., REQUIRED TO CROSS OR TRAVERSE EXISTING ROADWAYS, COMPLETE IN PLACE	CY	6744	\$7.50	\$50,580.00	\$5.00	\$33,720.00
7	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$34,600.00	\$34,600.00	\$24,000.00	\$24,000.00
8	TEMPORARY TRAFFIC CONTROL AS REQUIRED FOR CONSTRUCTION, INCLUDES BUTTONS, SIGNS, STRIPING, MARKERS, BARRELS, FLAGMEN AND ANY OTHER TRAFFIC CONTROL MEASURES REQUIRED, COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$8,800.00	\$8,800.00
9	TYPE III BARRICADE, COMPLETE IN PLACE	EA	4	\$1,000.00	\$4,000.00	\$1,400.00	\$5,600.00
10	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	55	\$15.00	\$825.00	\$19.00	\$1,045.00
11	2' SAWCUT, EXPOSE, CLEAN, AND TIE EXISITING REBAR INTO PROPOSED 7" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	50	\$25.00	\$1,250.00	\$39.00	\$1,950.00
12	REMOVE AND OFFSITE DISPOSAL OF 7" CONCRETE PAVEMENT WITH CURB, COMPLETE IN PLACE	SY	1254	\$34.00	\$42,636.00	\$25.00	\$31,350.00
13	ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	6	\$1,500.00	\$9,000.00	\$1,600.00	\$9,600.00
14	2" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	528	\$3.50	\$1,848.00	\$10.00	\$5,280.00
PAVE	MENT IMPROVEMENT ITEMS SUBTOTAL:				\$1,709,785.90		\$1,657,307.40
CLEA	ARING AND GRUBBING ITEMS						
1	CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING OF CLEARING DEBRIS AND HAULING OF DEBRIS OFFSITE, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	9	\$8,690.00	\$78,210.00	\$8,800.00	\$79,200.00
CLEA	RING AND GRUBBING ITEMS SUBTOTAL:				\$78,210.00		\$79,200.00
MISC	ELLANEOUS ITEMS						
1	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$15,000.00	\$15,000.00
2	INSTALLATION AND MAINTENANCE OF FILTER FABRIC FENCE (SILT BARRIER FENCING) INCLUDING REMOVAL UPON COMPLETION, ONLY AS DIRECTED BY THE ENGINEER , COMPLETE IN PLACE	LF	11203	\$1.65	\$18,484.95	\$2.00	\$22,406.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE RANDALL TRACT STREET DEDICATION SECTION 1 MONTGOMERY COUNTY, TEXAS FEBRUARY 22, 2024 LJA ENGINEERING, INC. T. JOSEPH

FEBRUARY 23, 2024

5555-3002 (9.2)

					` '			
					4) PRINCIPAL SE	RVICES, LTD	5) DACO PAVIN	NG, INC.
	ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	3	REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), SWMHCA SPECIFICATION NO. 4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	60	\$1.65	\$99.00	\$6.00	\$360.00
	4	INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT SWMHCA SPECIFICATION NO. 4711, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
	5	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	6	CONSTRUCTION STAKING AS NEEDED TO COMPLETE PROJECT PER PLANS, OWNER ONLY PROVIDES LIMITED CONTROL	LS	1	\$27,900.00	\$27,900.00	\$18,000.00	\$18,000.00
	7	INLET PROTECTION BARRIERS FOR EXISTING TYPE "B-B" INLET, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$137,00	\$137.00
	8	INLET PROTECTION BARRIERS FOR EXISTING TYPE "A" INLET, COMPLETE IN PLACE	EA	3	\$50.00	\$150.00	\$68.00	\$204.00
		ELLANEOUS ITEMS SUBTOTAL:				\$49,683.95		\$58,607.00
		ING SUMMARY					,	
		TOTAL DRAINAGE FACILITIES ITEMS				\$1,028,993.00		\$1,133,885.60
;	SUBT	TOTAL PAVEMENT IMPROVEMENT ITEMS				\$1,709,785.90		\$1,657,307.40
;	SUBT	TOTAL CLEARING AND GRUBBING ITEMS				\$78,210.00		\$79,200.00
•	TOTA	AL AMOUNT BASE BID				\$2,816,988.90		\$2,870,393.00
	MISC	ELLANEOUS ITEMS						
•	TOTA	AL AMOUNT BASE BID				\$2,816,988.90		\$2,870,393.00
;	SUBT	TOTAL MISCELLANEOUS ITEMS	A A			\$49,683.95		\$58,607.00
•	TOTA	AL AMOUNT INCLUDING MISCELLANEOUS ITEMS	7 7			\$2,866,672.85		\$2,929,000.00

Page 9 of 9 FRN F-1386 LJA Engineering, Inc.